Indices

M.I. Nelson

School of Mathematics & Applied Statistics, University of Wollongong, AUSTRALIA.

$$2^{3} =$$

$$2^{0} =$$

$$4^{-1} =$$

$$-4^{-1} =$$

$$4^{-3} =$$

$$-2^{2} =$$

$$(-2)^{2} =$$

$$2^{3} = 2 \times 2 \times 2$$

$$2^{0} =$$

$$4^{-1} =$$

$$-4^{-1} =$$

$$4^{-3} =$$

$$-2^{2} =$$

$$(-2)^{2} =$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} =$$

$$4^{-1} =$$

$$-4^{-1} =$$

$$4^{-3} =$$

$$-2^{2} =$$

$$(-2)^{2} =$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} =$$

$$-4^{-1} =$$

$$4^{-3} =$$

$$-2^{2} =$$

$$(-2)^{2} =$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}}$$

$$-4^{-1} = 4^{-3} = 4^{-3} = 4^{-2} = 4^$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} =$$

$$4^{-3} =$$

$$-2^{2} =$$

$$(-2)^{2} =$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1}$$

$$4^{-3} =$$

$$-2^{2} =$$

$$(-2)^{2} =$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = -2^{2} = (-2)^{2} =$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = \frac{1}{4^{3}}$$

$$-2^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2}$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = \frac{1}{4^{3}} = \frac{1}{4 \times 4 \times 4}$$

$$-2^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2}$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = \frac{1}{4^{3}} = \frac{1}{4 \times 4 \times 4} = \frac{1}{64}.$$

$$-2^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2} = (-2)^{2}$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = \frac{1}{4^{3}} = \frac{1}{4 \times 4 \times 4} = \frac{1}{64}.$$

$$-2^{2} = -(2^{2})$$

$$(-2)^{2} = \frac{1}{4^{2}} = \frac{1}{4^{2}} = \frac{1}{4^{2}}.$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = \frac{1}{4^{3}} = \frac{1}{4 \times 4 \times 4} = \frac{1}{64}.$$

$$-2^{2} = -(2^{2}) = -(2 \times 2)$$

$$(-2)^{2} = \frac{1}{4^{2}} = \frac{1}{4^{2}} = \frac{1}{4^{2}}.$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = \frac{1}{4^{3}} = \frac{1}{4 \times 4 \times 4} = \frac{1}{64}.$$

$$-2^{2} = -(2^{2}) = -(2 \times 2) = -4.$$

$$(-2)^{2} = -4.$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = \frac{1}{4^{3}} = \frac{1}{4 \times 4 \times 4} = \frac{1}{64}.$$

$$-2^{2} = -(2^{2}) = -(2 \times 2) = -4.$$

$$(-2)^{2} = -2 \times -2$$

$$2^{3} = 2 \times 2 \times 2 = 8.$$

$$2^{0} = 1.$$

$$4^{-1} = \frac{1}{4^{1}} = \frac{1}{4}.$$

$$-4^{-1} = -(4)^{-1} = -\frac{1}{4}.$$

$$4^{-3} = \frac{1}{4^{3}} = \frac{1}{4 \times 4 \times 4} = \frac{1}{64}.$$

$$-2^{2} = -(2^{2}) = -(2 \times 2) = -4.$$

$$(-2)^{2} = -2 \times -2 = 4.$$

Simplify
$$x + y^{-1}$$
 $x + y^{-1} =$

Simplify
$$x + y^{-1}$$

$$x + y^{-1} = x + \frac{1}{y},$$

Simplify
$$x + y^{-1}$$
$$x + y^{-1} = x + \frac{1}{y},$$
$$= \frac{xy + 1}{xy}.$$